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O ZETofel Ty
- O= HY2 FLYFoIM Hgeh ZEE0H X2t H2[0f £t &(The Developmental

Disabilities Act, 1984) =& ©AE, YEE0 2l=(Administration on Developmental Disa
bilities: ADD, 2000)2 AX|
- LETONRA=2 LEYON AR A 7IETHG 0| AHFSh= X|GAR| LHOfA ZHEA
XSSt 2 mets sl Crfer wAloz X|RI5HH, AH|A HEMEEZ A
=
- XHE| 4 ZEofQlol Oj2iE E&ESH= B E(Expanding the Promise for Individuals With

o
Act, 20072 KHEAS FIOHQ! TEARRFQL 7HE 02 1 CiAl

Autism 2 SHEXIQI=M, Ol
Qo CHA X8 =Rt MH|AE 2edA7|7] fIg 8oz HIF
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X|@lSt= HE{THH(Lanterman Act, 2011) A|I™H
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d Children Act, 1975) O| X|’d=l 0|22 IDEA(Individuals with Disabilities Education
Act, 1990)2= 7HHE|HA o] LHE LRIt 748

- Hofolm Sk (Individuals with Disabilities Education Enhancement Act, 2004) 2
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A A =l(Individualized Program Plan: IPP) &7

o
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= ==
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